Test   Sections 8.1 – 8.3    A.P. Calculus    Mr. Pleacher  Name _____________________

I. Multiple Choice
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II.  Free Response

Determine the value of the following integrals:

7.  
[image: image21.wmf]2

x

xedx

ò

 =

8.  
[image: image22.wmf]2

sin()

xxdx

ò

 =

9.  
[image: image23.wmf]2

100

xdx

x

-

ó

ô

õ

 =

10.  
[image: image24.wmf]32

2152

5

xxx

dx

x

--+

=

-

ó

ô

õ


11.  
[image: image25.wmf]63

sincos

xxdx

ò

 =

12.  
[image: image26.wmf]cos

x

exdx

ò

 =

13.  
[image: image27.wmf](

)

(

)

33

tan2sec2

xxdx

ò

 =

14.  
[image: image28.wmf]sec(4)

xdx

ò

 =

15.  
[image: image29.wmf]49

xdx

+

ò

 =

16.  
[image: image30.wmf](

)

1

sec

dx

x

p

ó

ô

õ

 =

17.  
[image: image31.wmf]cos

xx

eedx

ò

 =

18.  
[image: image32.wmf](

)

3

42

xdx

-

ò

 =

19.  
[image: image33.wmf](

)

2

2

42

xdx

-

ò


20.  
[image: image34.wmf]ln

dx

xx

ó

ô

õ

 =

_1172940534.unknown

_1172940678.unknown

_1172942129.unknown

_1203697098.unknown

_1203697480.unknown

_1203697511.unknown

_1203697717.unknown

_1203697377.unknown

_1203696819.unknown

_1172941557.unknown

_1172941699.unknown

_1172941157.unknown

_1172940602.unknown

_1172940633.unknown

_1172940557.unknown

_1079709515.unknown

_1142065370.unknown

_1172939385.unknown

_1172940518.unknown

_1172939245.unknown

_1172939244.unknown

_1142016156.unknown

_1142061902.unknown

_1142062035.unknown

_1142061682.unknown

_1079711586.unknown

_1079711588.unknown

_1079709561.unknown

_1079705601.unknown

_1079705862.unknown

_1079705964.unknown

_1079705994.unknown

_1079705807.unknown

_1079705493.unknown

